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Tnpsc Aptitude & Mental Ability

Model Questions With Explanation Set 5

1. The perimeter of a equilateral triangle is 18 cm. then the height of the equilateral
triangle is

@ FLUES (PSHCHTEINSHH T &HmeTe| 18 Q&0 ereaflev SFFLLLSHS
(W &HCHTeTHE6T 2 WIFLD

a. 3 cm b. V3 c. 23 cm d. 3V3 cm
Solution

Perimeter of triangle = 3a

Height of triangle = %a

2. A field is in the form of a rhombus. The diagonals of the fields are 100 m

and 180 m. find the cost of levelling it at the rate of Rs. 3 per sq.m.

@(h QUWELTETH| FTWIES euigailed 2 6Targl. euwedl6H LMVl L
2lemeys6it 100 LB, 180 1B SIHG euweneLEF FEHTAFIIW F&IT LB L (65 €. 3
a5l 9 G CQFLMEUS SITETIS.

a. 25,000 Rs. B. 27,000 Rs. C. 29,000 Rs d. 2,70,000 Rs.
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Solution

Diagonals of rhombus d; = 100m, d, = 180m

Area of rhombus = % (di * dy)
= § (100  180) = 9000 m?
Cost for levelling = 9000 * 3

=Rs. 27,000

3. Three persons working 3 hours a day assemble 3 machines in three days.
The number of machines assembled by 4 persons working 5 hours a day in 9
days is

cpeirm Guiy Hleor(pd 3 el CHILD Geusmev CFWIG 3 QuIhHymsemen 3
BrLseafled QUTBSGIeu). HIeTE Cu SHer(pd 5 el CHIDL Geusmev

Q&g 9 BIL&efleL QubHrmisamer QUIT(HSgieul?
a. 20 b. 27 b. 81 d. 180
Solution

(M-men, D-Day, T-time, W-work)

MiDi Ty _ M2DxTp
W W,

3%3x3 4x5%9
3 X

4%x5%9%3
3%3%3

X =

X =20
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4. A shop owner gives one fifth of his profit to his Manager. The Manager
gives one third of the money he received to his assistant. Half of the amount

received by the assistant is Rs. 100. What is the Shop owner’s profit?

@(h SOL&ESTTY Hrgl omuGHL BHH6L ¢@(h LMKIMS G 60T

Gueomem (5@ QSTHSHMMY. GLeOTaT) H6uH G HOLGHH6L CLP6TMI6L
@(h UMImns H6T 2 Gallwmer(h5@ SHIHMY. 2 gallwmery CQumm
Qamemsullep UTd €h. 100. SHEOLSHSHTH6T 6VTLILD 6T60T60T?

a. 2000 Rs. b. 3000Rs c. 4000 Rs d. 6000Rs
Solution

Assistant received Half amount = 100

Assistant received Full amount = 2 (100) = 200 Rs

Manager received 3 times of assistant received = 3 (200) = 600Rs

The shop keeper received 5 times of manager received = 5 (600) = 3000Rs

5. If simple interest for a sum of Rs. 3100 for 4 years is Rs.40 more than the
simple interest of Rs.2900 for the same duration at the same rate of interest

then the rate of interest is

. 3100 &G 4 ULMKIGEHSES SMILUULL el ly aNHgHHH6L au(HLD
SevllaUL_lq €h. 2900 &G AHCH HTLHHDG NCH ULl lg alHGHEHH L 6u(HLD
Sefleullgemwl el €. 40 AHGHLONS 2 6TanG 6TevlleL UL lg aNSIGLOM6T )

a. 2% b. 5% c. 8% d. 10%
Solution

Let interest be X
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X =2900 * 4 * (/100 ) = X = 116i

X+40 =3100 * 4 * (/100 ) = X+40 = 124i

X = 124i - 40

124i - 40 = 116i

124i - 116i = 40

8i = 40

i=5%

6. If HEATER is written as KBDQHO, how you encode COOLER

HEATER eT6tTLieng KBDQHO eTewr 6T(LpGILOGLITG] COOLER 6T60TLIG 60T
GOIWTSHSLD WTGI?

a. FLRIHO b. FHOIRL c. LRHIOF d. FRHLIO

Solution

ABCDEFGHIJKLMNOPQRSTUVWXZ

H1JK=======CDEF
EDCB=======0MN L
ABCD ======== 0 P Q R
TSRQ======== L KJ I
EFGH ========EF G H
RQPO========R QPO
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7. If a cube which is painted white top and red other 5 sides is cut into 64
identical small cubes using cuts parallel to the sides, how many of the smaller

cubes have all their sides unpainted?

@(h SOFHIHH CLOEL LSS ClEUGTEMET 6UIEU(LALD, LOMM 5 L& & MHIS 6T
feuuy eujeor(pd YeuuL Getengl. @8l 64 G LomHFlwmer & eor
FGIIRISTTS Flevor(h CUTLLUUGHIMGI. Glevor(B CUTL CQeuL B a6
SUIFGHITSHIHNT LUSHSHMIGEHSHEG QeNILTS SienLodlermer. @bg HMiw
SIFGHIIMISETEL THHMG 6TIHG LSHSH(PLD UF6UILD L FLILILTHEmeEU?

a. 8 b. 4 c. 2 d. 1
solution

to find out no coloured surface formula is (n - 2)3

64 = 43 where n =4

4-27°=(@2°=8

8. A wooden box of 2 cm thickness has inner measurements 6 cm long 2 cm

breath and 1 cm height. The volume of the wood in the box is

2 Q&.18 HigLo6tT QSHTEHITL. 2 61T j66eYy 6 Q&5 Hemd 2 Q&L &6vd 1 Q&8
2 WD 2 6Tem WIUQULIQUleL LISH6T &6 IATEUT6TS)

a. 96 cm® b.64 cm® c. 288cm® d. 300cm®
Solution
Find the inner volume of the box:

Volume = Length x Breadth x Height

Volume 6 x2x1 =12 cm?®
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Find the inner volume and the volume of the wood:

Since the thickness of the wood is 2cm, we add 2 cm to each side of the

wood. Therefore we add 4 cm to every inner dimension.

Length = 6 + 2 + 2 = 10 cm

Breadth = 2 + 2 + 2 = 6 cm

Height = 1 + 2 + 2 = 5 cm

Volume = 10 x 6 x 5 = 300 cm?®

Find the volume of the wood:

Volume of the wood = 300 - 12 = 288 cm?®

The volume is 288 cm?®

9. The perimeter of semicircle with radius 28 cm is

STLD 28 Q&5 2 ML W MU L SH6T &DMETEUTEIF)

a. 88 cm b. 116 cm

Solution

Radius=28cm

Perimeter = nir + 2r

= (22/7) * 28 + 2(28)

=88 + 56

= 144cm

c. 144 cm

d. 56 cm
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10. What is the missing number in the proportion? 4: 13 :: 64:

Qar@ésuuL L. alflgsHlev all(PLULL 6Tewor WMGI? 4: 13 :: 64:
a.168 b. 198 c. 208 d. 228

solution

Let the number be x,

4*x = 1364

_ 13%64
4

x =13*16

x =208

11. 45% of 640+ 64% of 450= % of 1440.

640@\60L 45%+ 450 @6V 64%= 1440 @e6vL %

a. 54 b. 40 c. 45 d. 50

solution

10% of 640 = 64 then 40%( 10 * 4 ) of 640 = (64 * 4) = 256

when 10% = 64 then 5 % = (64 / 2) = 32

then 45% = 256 + 32= 288

64% of 450 then 10% Of 450 is 45 and then 60% will be (45 * 6 )= 270

1% of 450 is 4.5 then 2% will be 9
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So 64 % of 450 will be 279

288 + 279 = % of 1440.
10% of 1440 is 144

Then 144 * 4 = 576 which is 40%

12. The price of an item inclusive of VAT is Rs. 9,720. If VAT is 8% then the

cost price of the item is

HULSFaL (B euflwLer e Qum@meflsr ellsmev ¢m. 9,720. WHUY Fal (b
6ulfl 8% 6T6vN6L SIG6HT L&HS QI6BI6L 6T60T60T?

a. 9000Rs. b. 9,100Rs c. 9,121Rs. d. 9,200Rs.
solution

Let the price without tax be Rs x

Rate of sales tax = 8%

So, x+8% of x=9720

(108/100)x=9720

108x= 9720*100

x=9720*100/108

x =9000

Thus the price without sales tax is Rs.9000
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13. A Trader has 500 kg of rice, part of which he sells at 8% profit and the
rest at 18% profit. He gains 10% on the whole. The quantity sold at 18% profit
is

@, eUeTt&I] Getrefl(L6imen sp(h LGS ifHemnw 8 FHaNHg
eomuUsHMGL WHenw 18 F5alHg somuHMHGL albHumer C&lianided
Q&G LeTer 500 HlGeomr fFSHG 10 FH0NHG oMU QUDMMTY. Si6ulf 18
§5ail&lg comusHnG amm AfHuiler ieTeumeng)?

a. 100 kg b. 200 kg c. 300 kg d. 400 kg

(x=y)3+ (y—-2)3+ (z—x)3 i

14. The value of
e value of = o220

(x=y)3+ (y-2)3+ (z—x)3
9(x-y)(y—2)(z—x)

@ &6 LFILILIT6G)

O | =

a. - b.
solution
a+b+c=0then a®+b3+ ¢3=3abc
consider
a=X-y,b=y-z,c=2z-X
a+b+c=x-y+y-z+z-x=20

(x=9)°+ -2+ (z-x) _ 3abc _ 1

9(x—y)(y—2z)(z—x) 9abc 3
15. The LCM of 2,2,2 2 is
3'5°7°13
2322 g BOQUE QUITE LOL RIS T6
3’5’7’13 &l &l
— b, 32 c. — d. 36
35 91 36
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solution

L.C.M of Numerator

L.C.M of

wiN
v | w

4 9
'577713 H.C.F of Denominator

LCM2,3,4,9 =236

HC,.F3,5,7,13 =1

L.C.M of Numerator 36
= — = 36

H.C.F of Denominator 1

16. If 20% discount on the marked price and then another 5% discount on the

new price is given then the overall discount is

G allmeoulledlBingl 20% SHeTEbLgU|D, @Hs LG allemeoulledlwmhgi
GLOEYILD 5% GETEHUIGUILD QAST(RSSULILLITEL QLTESHSHH6L GeTEnLIg

a. 22% b. 23.5% c. 24% d. 25
solution

marked price (X) = 100

Discount 20% on this price = 100 * 20% = 100 ( 20 / 100) = 20

Price after the discount = 100 - 20 = 80Rs

Discount 5% on Rs. 80 = Rs. 80 * 5% =80 * ( 5/ 100 ) = 4

Price after overall discount = 80 - 4 = Rs.76

Overall discount on this price = 100 76 = 24%

17. What comes next?

a, (a?+1), ((a? + 1)? +1), ...
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B HG QUDHEUG] 6T60T6ur?

a, (a?+1), ((a? + 1)% +1), ...

a. (@ +1)* +1))° b. ((e%+ 1) +1))%+1°
c. (((a?+1)?% +1))?%+1) d. ((a?+1)% +1))%+2
solution

we can see that for the next term it is squared and 1 is added so the next

term will be (((a? + 1) + 1))%+1)

18. If the price of an article increases from Rs. 80 to Rs. 100 then the

increase in percentage is

@@ Qur@eflenr aflmev 80 epUTUIEON(HIHG| 100 CHLTWITS 2 WTHSHE! 6T6vfleL
2 W6y FHaIHLD

% b. = % c. 20% d. 25%

o
& la
ut | s

solution

Article old price = 80

Mount increased = 100 - 80 = Rs.20

Increased percentage = ( 20 / 80 ) * 100 = 25%

19. A right triangle ABC with sides 5 cm, 12 cm and 13 cm is revolved about

the side 12 cm. Find the volume of the solid so obtained.

a. 430 cm? b. 314 cm® c. 445 cm® d. 450 cm3

Solution : As the triangle revolved about the side 12 cm.
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radius = r = bm and height = h = 12 cm

Volume = 1/ 3 T r?h

\Y

1/3 x 314 x 5 x5 x 12

V = 314 cm?

20. A,B and C are three identical spheres made of different metals. If B

weighs more than C but less than A, then the value of density of

AB LOMMID C Y SlWer QeueuCauml 2 CELMHMISHETTELTE 25T CLPGITMI
CHTATHIGATT(GLD B, C MG HMLIGEID JISHSHLOMET LOMHMILD A WS

SMLIGEILD (SO MEUTET 6TEOLMWS C&HTEIL &) 6T6uil6L, SIL & HemwiL
Qumm S Gemailev,

a. B is the greatest b. A is the greatest
c. B is the least d. A is the least
solution

B weighs more than C but less than A = A > B > C

A is the greatest
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